
1.Пресметај:

5:5= 35:5= 45:5=

40:5= 12:2= 8:2=

14:2= 16:2= 10:2=

2.Јованимал14џамлии.Гираспоредилводваџеба.Колку
џамлииимавосекојџеб?

Р_____________________________________________

О_____________________________________________

3.Воцвеќарницатаимало18лалиња.Мимикупила
половина.Колку лалињакупилаМими?

Р_____________________________________________

О_____________________________________________

4. Наигралиштетоиграледеца.Вкупноимало18.Половина
седевојчиња.Колкусемомчиња?

Р_____________________________________________

О_____________________________________________

5. Мишоспакувал45џамлииво5кутиитакоштово секоја
кутијаимаист бројџамлии.Колкуџамлииимавосекоја
кутија?

Р_____________________________________________

О_____________________________________________


